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Intro

Algebra II is a harder class than most other math classes, since the class introduces many new concepts and new kinds of graphing equations, such as quadratics, polynomial equations, exponential equations, rational equations, radical equations, and other non-standard “equations,” such as circles and conical equations. Probably sometime during the class, the student has wished for programs on his calculator in order to check his work and in order to make his life much easier. He has searched the internet and has found nothing, but finally, Algebra II programs have finally made their way to the internet community, Alg2Pack! This has many good programs to make the student’s life easier and to check his math on homework and tests. There are programs for Matrices,

Quadratic Equations, Polynomial Equations, Exponential Equations, Rational Equations, Conic Equations, and many more! The user will not find programs for such complex things as factoring equations and other complex things, but there are very useful programs in the pack, such as synthetic division, the quadratic equation, and a program that finds all useful data of a parabola (with conjunction of the previous)! 

This manual might look long, but it is not: each program contains easy and informative instructions and notes on how to use it. In addition, there are sample pictures for each program, which usually displays the steps used to solve a relative sample program. At the beginning of each archive group, there is a small table of contents, which gives a description of each program’s purpose and a page number. Enjoy Alg2Pack!
General Programs
Programs in this archive group, General.8xg:


Name

Description of use

1. Cln (3)
A program that performs general data maintenance and clean up of 

the calculator. This is similar to the forgotten chkdsk command 


on windows
2. Intudn (4)
A program that does the integer, round-up, and round-down 
functions for a value.
3. Esum (5)
A very nice program that solves n-ary summation (() problems 

with a set of variables.
Cln probably is the most important program here, since it cleans up leftover variables and “garbage collects” waste in order to speed up the calculator.
Cln

Cln is a very easy and important program to use! It removes leftover data and maintains the calculator.
Steps:

1. Launch Cln.
2. First, “Garbage Collect?” should appear; select “yes” or “no.”
3. Afterwards, it will ask if the user wants to delete all lists. Type “1” or “0” (Y/N) to cleanup leftover data from STAT operations (L1, L2…).
4. Next, it will ask if the user wants to delete all variables. Type “1” or “0” (Y/N) to delete all variables from A to Z.
5. In addition, when running this program, it will clear all history of operations in the home screen and delete variables X, Y, θ, and  from graphing. Lastly, it also sets the user’s window to the standard type.
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 Intudn

Here is a very useful program for the second or third chapter in a standard Algebra 2 class! It does the round-up ((x(), round down ((x(), and integer function ([x]) for any given value for x. It gives one the result of that function, which is useful when one is plotting these special functions. For the integer function, it simply uses the calculators built-in function int(, which is found in “(>Num>int(” on the calculator. The other two functions are user-built.
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Steps: 
1.
Launch Intudn.
2.
From the menu, select:

“Up” for round up functions


“Down” for round-down functions


“Int” for integer functions




A graph of y=int(x)
UP and DOWN:

1. Input the value to perform the round-up function. It must be in a decimal format, even if it is an integer like 2.0!

2. If the number is a positive number, type “1.”
If the number is a negative number, type “-1.”

3.  The result will then be calculated and displayed!

INT:

1. Input the value to perform the integer function.

2. The result will then be calculated and displayed!
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ESum

This program easily solves n-ary summation (() problems with only about five variables. Granted, this lesson is usually not learned in Algebra 2, but it is a good program for statistics class later.

The example problem in the pictures being solved is: “If a person gives 5 letters in a week, who those 5 people individually then give 5 letters to another 5 people in another week, how many letters will have been sent after 3 weeks?”

Steps:

1. Launch ESum.
2. First, the user will receive a reminder on what the n-ary summation equation is.
3. Then some prompts will appear:
First enter the starting number for “n” (the control variable that either increments or decrements the n-ary summation).
Then enter the ending number for “n.”

Enter then the “magic number” (for example, in the above problem, 5).
Lastly, enter a “1” to increment the control variable, or “-1” to decrement it.

4. Next, the calculator will calculate and (artificially) display its work.
5. After each period (in the example, a week), it will display the result. It will then repeat and display its calculation until the period is finished.

[image: image5.png]



 [image: image6.png]21 YA A
EHD 4 M

7

MAGIC H

75

IFiC




[image: image7.png]


  [image: image8.png]


  [image: image9.png]




Displays 5^ (1+1)
         Simplifies the former

Solves the latter

It loops until end…
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After 3 weeks, 775 letters would be sent
Matrix operations

Programs in this archive group Matrix.8xg:


Name

Description of use

1 Dimat (7)
A very simple program that determines the end dimension 



of the product of two matrices. (One can rerun the program 



with the result to multiply more than two matrices.)

2 MdeT (8)
Another simple program that finds the determinant of 



square 
matrices (2x2 matrices preferably)
3 Sysmat (10)
A complex program that solves a system of two equations 



(only). It displays its work and, after the user inputs the first 


matrix, then creates the other half of the system (y=), and solves 


both halves.
In the last two programs, one could input matrices from the program itself 
OR by inputting it from the built-in matrix editor (((Matrix). When the program asks the user to input a matrix, push (((Matrix) and then select the corresponding matrix name
Dimat

Probably one of the simpler programs, this program finds the end dimension of the matrix from the product of two matrices. If the dimensions of the two matrices cannot be multiplied, an error message is displayed. Matrices where the two “inner” (axb*cxd) parts of the matrices are different cannot be multiplied.

The following pictures display the end dimension of the product of a 2x3 matrix and a 3x4 matrix. The error message pictures are for 2x3*4x5.
Steps:

1. Launch Dimat.
2. Input the row, then column of the dimension from the first matrix.
3. Input the row, then column of the dimension from the second matrix.
4. If the matrices are multipliable, it will display the result; otherwise, there will be an error message.
2x3*3x4 (works)





2x3*4x5 (error)
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MDet

This simple program finds the determinant of a given matrix. (It only works for square matrices, though; 2x2 matrices are best.) As a reminder, to find the determinant, solve ad-bc, in which the variables correspond with this diagram:

[a b]

[c d]

There is only a determinant if ad-bc≠0; if the determinant equals zero on the program, an error message is displayed.


The following pictures display the work to find the determinant of [[2,2][1,2]] (which works), and of [[2,2][2,2]] (which does not work).

Steps:

1. Launch MDet.
2. First, input the dimension of the matrix in the format {R, C} on the calculator.
3. Next, input the matrix. For a 2x2 matrix, one would enter it in this format: 
       [[#, #][#, #]].

4. The calculator will then display its work of a*d and give the product.
5. It will then display its work of -b*c and give the product.
6. It will also solve (ad)-bc.
7. Lastly, it will display the determinant. If it equals zero, an error message is displayed.

Finding the determinant for



Finding the determinant for

[2, 2]






[2, 2]

[1, 2]






[2, 2]

(Works)





(Error)
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Sysmat

A sample of one of the pack’s amazing, complex programs, this program solves a system of two equations with matrices. All that the user needs is the coefficients and sums of the two equations (which need to be in standard format in order to pick the data. Standard format for a line is ax+by=c). If any of the determinants equal zero, execution of program stops, error!
The style of solving that the program solves is:

a1x+b1y=c1
a2x+b2y=c2
(The upper matrices match the x and y matrices, except for boxed cells, which shifts to its corresponding side. Matrices x and y are the same)
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    [c1 b1]

    [a1 c1]

    [c2 b2]
det
    [a2 c2]
det


/


/
x=[a1 b1]
det
y=[a1 b1]
det
    [a2 b2]

    [a2 b2]

The following pictures solve the system 2x+3y=5






      3x+5y=2

Work to solve example problem by hand:
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    [5 3]


    [2 5]
    [2 5]

19
    [3 2]

-11


/


/
x=[2 3]

1
y=[2 3]

1
    [3 5]


    [3 5]
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{19, -11}
Steps:
1. Launch Sysmat.
2. Input the coefficients as a matrix (in the example, [[2, 3][3, 5]]).
3. Then input the sums as a two-item list (in example, {5, 2}).
4. The program will then echo the matrix the user entered for x and y
5. It will then display the determinant of that matrix.
6. Next, it will create the matrix above x and find its determinant.
7. It will create the one above matrix y too.
Lastly, it will display the two division problems used to receive the answers for x and y, and solve them.
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In order to confirm that the program gave the rights answers, here is a picture of those two equations graphed in slope format
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Exponentional operations

Programs in this archive group Expoeqs.8xg:


Name

Description of use

1. Cmpint (14)
A program that creates a compounded interest equation (A=Prt). 



Also displays the interest for any value for t and stores the 




equation in y1!
2. Contint (16)
Similar to above, but is for continuous compounded interest 



(A=P(rt). It has the same features as above.
3. Exp2Log (18)
Changes an exponentional equation into a logarithmic equation. 



(baseexp=answer)

4. Log2Exp (19)
Opposite of above, changes a logarithm into an exponentional 



equation. (logbaseexp=answer)
5. Logprps (20)
A program that corrects “improper logs” where the logged number 



of the logarithm has an exponent or a fraction. Uses “AI” to make 



them proper.
6. LogX (22)

Solves logs with custom bases (other than the standard log10 x). To 



do this, log310 would translate to (log 10)/(log 3).

Major NOTE: for many of these “AI” programs, such as program #5, the user must use his own judgment on the final answer, since the “AI” is not perfect. For example, for program 6, log3(39) will become 9*log33, which can still be simplified to 9 (log33=1). Many of these types of programs are designed to be time saving aides, NOT a replacement for the user’s education and knowledge!
Cmpint

A very time saving program, this program makes a compounded-interest exponentional equation; all that is required is the values for all variables except t and A (A=Prt) and it will solve it for the user! In addition, after the equation is made, one can input any value for t to see the end money value (A). Moreover, one could input how many times the interest is compounded. Lastly, if one inputs ( for t (((), it will place the expression in y1 for graphing!

The following pictures are for the example problem of: “$2000 is invested at 20% interest. How much is the investment worth if the interest is compounded quarterly after 2 years?
Steps:

1. Launch Cmpint.
2. The calculator will first ask for some variable values.


First, input the principle (P), or the starting value of money.


Then, input the interest rate, which follows a special format. If the rate is 


a full percent, such as 20%, type 20. If (for whatever reason) the interest is 

under 100%, input -20 (100%-20%=80%).


Lastly, input the number of times the interest will be compounded (i.e., if 


the interest will be compounded quarterly, input 4).
3. Next, it will display its work to make the equation.
4. It will then display the final equation to use.
5. Lastly, with the equation made, the user can input any value for t and find the value of the investment. It will loop here infinitely; to quit, push ( and then select “quit.” If the user would like to have the equation stored in y1, input ( for t (((). 
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The answer, above
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The graphing (y=) screen after inputting (

    The break screen
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Contint

This handy program does continuous-compounding interest, and works similarly as the previous program. (The formula is A=P(rt. To insert (, press ((.) It has the exact same features from the previous program (the ability to modify t to see its values, and the ability to store the equation in y1).

The sample problem being solved in the pictures is: “If $2000 is invested at 6% interest compounded continuously, what is the investment worth after 2 years?”
Steps:
1. Launch Contint.
2. The calculator will first ask for some variable values.


First, input the principle, or starting value. (The calculator automatically 


supplies the value for the constant (.)


Then, input the interest rate as a decimal.
3. Next, the calculator will build and display the end equation.
4. Lastly, with the equation made, the user can input any value for t and find the value of the investment. It will loop here infinitely; to quit, push ( and then select “quit.” If the user would like to have the equation stored in y1, input ( for t (((). 
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The answer
The y= graph equation screen

            The universal break screen
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Exp2Log

A simple, yet time saving program, this program converts logarithms into exponentional expressions. The conversion is as follows:
Log baseexp=answer (of exponent expression)
The following pictures convert 92=81 into Log9 81=2

Steps:

1. Launch exp2log
2. The calculator will first ask for some values for variables.



First, input the base of the exponentional expression



Next, input the exponent.

3. Lastly, the calculator will display the log equivalent for the exponentional equation. 
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Log2Exp

This program is same as the previous, but instead, it converts logarithms into exponentional expressions. The conversion is as follows:
Logbase ans=exp to Baseexp=ans
All that is needed is to insert the problem of the log! The following pictures convert Log9 81=2 into 92=81.
Steps:

1. Launch Log2exp.
2. The calculator will first ask the user for some values for variables.



First, input the base of the problem/exponentional expression.


Next, input the answer of the problem/exponentional expression.


Lastly, input the exponent of the problem/exponentional expression.
3. Lastly, the calculator will calculate the exponentional equivalent for the logarithm. 
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Logprps


A somewhat more complex “AI” program, this program fixes and simplifies “improper” logs, such as log6 39 and log3 9/2. The program has a small menu of two functions in order to fix the log, multiplication (*) and division (÷), where the former is used for the former example, and the latter for the latter. In addition, some of the inputs can contain letters to represent (but not replace with its value) an unknown value. Note: any inputs that have a plus (+) sign after them requires two spaces (i.e. 3__) after the input (to input spaces, press ((). 
The left column of pictures displays the simplification of log6 39 (*), while the right column displays the simplification of log3 9/2(÷).

Steps:

1. Launch Logprps.
2. Select the function for the log (see text).

For multiplication (*)



For division (÷)

A.
First, input the base for the log.

A.
First, input the base 









for the log.

B.
Next, input the logged expression 

B.
Next, input the 



(format of x^y) plus two spaces (i.e.


numerator of the 


x^y__).





logged fraction (this 









could include place-
C. Lastly, the calculator will fix the logarithm

holding variables).

and thus give the answer!








C.
Afterwards, input the 
D. The calculator will then return to the
 

denominator.

main menu. To quit, push ( and then 


select “quit.”




D.
Lastly, the calculator 








will fix the logarithm 








and thus give the 








answer!





E.
The program will then return 
to the main 





menu. To 
quit, push ( and 








then select “quit.”

The Main menu
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Multiplication (*)




Division (÷)
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The answer for the example is

The answer for the example is


9*Log63 




Log39-Log33








        2-1








          1
The Universal Break screen
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LogX

The most important program in this group, this program computes logs that have bases other than 10 (the log( function has a static base of 10.) This function really ought to be on the calculator by default, but it is not. To compute different-based logs, the following formula is used:
Log10 a

_____

Log10 b
A is the logged number of the original logarithm, B is the base


As an added bonus, the result of the program is stored in variable A. If needed, this variable can be recalled for other purposes by pushing ( ( or ((( (.
The following pictures illustrate how to compute an answer for log2 6.
Steps:

1. Launch Logx.
2. Input the logged number of the log, then the base of the unique logarithm.
3. Lastly, the calculator will give an answer!
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Quadratic operations

Programs in this archive group Quadrtc.8xg:


Name

Description of use

1. Disti (24)

A simple program that finds the real distance of points on 




the imaginary (ι) Cartesian plane (a+bι) by the formula 




√(a2+b2)
2. ParDAT (24)
A very useful, time saving program that finds all the useful 




data from a quadratic equation, such as -b/2a, the vertex point, the 



y-intercept, and the point-symmetric, all with only using a, b, and c 


of the quadratic!
3. PYTH (26)

A super simple program that finds side c of a right triangle via the 



Pythagorean Theorem
4. QDCMPLT2 (26)
Another super-simple program that completes the square (n/2)2.
5. QUADRAT (27)
The most anticipated program of this group, this program solves 



the quadratic equation (but it will not simplify the result; the user 


has to do that himself) [-b±√(b2-4ac)]/2a. It finds the x-intercept 



of the quadratic, and, if chosen, the program will execute 




Pardat to find the rest of the data in the quadratic equation.
Disti

Probably one of the simplest programs, this program will find the real distance of points in the imaginary Cartesian plane. To find this real distance, solve √(a2+b2 ), where a and b are from the point format a+bι.
The following pictures find the real distance of the imaginary point 4+2ι. Note: The final answer will not be simplified in radical notation! The user should use his own judgment!
Steps:
1. Launch Disti.
2. First, the program will remind the user of the formula. Input a and b (no ι).
3. Lastly, the program will give the answer.
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Simplified, the answer is 5√2
ParDAT

Another neat program that finds -b/2a, the vertex point, the y-intercept, and the point-symmetric of a quadratic. All that is needed is the values of a, b, and c of the quadratic. The following pictures find the important data for the quadratic 2x2+3x+4. The other set of pictures confirm the answers via graphing
Steps:
1. Launch Pardat.
2. First input a, b, and c of the quadratic.
3. Next, the program will display the fractional answer of –b/2a.
4. Lastly, the program will give the answers of each important point



The vertex



The y-intercept


The point-symmetric
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The Vertex
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     The point-symmetric

                      The y-intercept
Pyth
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This very simple program finds part c of the Pythagorean Theorem. All that is needed is a and b of the right triangle.

The following pictures find part c of 
2
 c







       2

Steps:
1 Launch Pyth.
2 Insert the lengths of sides a and b.
3 Finally, it will calculate the value of c!
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QDCMPLT2
This is another simple program that “completes the square,” e.g., solves (n/2)2. All one has to do is enter n and it will do this time saving function! The following pictures “completes the square” when n=4.
Steps:
1. Launch Qdcmplt2.
2. Enter a value for n in order to “complete the square.”
3. The calculator will then complete the square!
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Quadrat

Finally, the program everyone has been waiting for, Quadrat. The handiest program in this group, it solves the quadratic equation [b±√(b2-4ac)]/2a for any quadratic entered in order to find the x-intercepts (if they exist). If it is reducible via division, it shall do so; otherwise, the user will receive and imaginary (ι) number or a crazy decimal. The user must check the simplification himself to make sure he has the best x-intercept! In addition, in order to prevent the “nonreal answer error” that happens when a radical becomes imaginary, go to ( and then change REAL to a+bι. Most importantly, this program has an optional link to Pardat in order to find the y-intercept, the point-symmetric, and the vertex! The user will then have all information of the quadratic!


The following pictures find the x-intercepts of the quadratic 2x2+3x+4. The other pictures find the other information via Pardat, and the other set illustrates how to change to imaginary(.
Steps:
1. Launch Quadrat
2. After initialization, the program will remind the user about the quadratic equation.

3. Enter a, b, and c of the quadratic

4. The program will then display the simplified versions of –b, b2, -4ac, and 2a. This is usually the unreduced answer to the equation. If it is not reducible, the user should use this answer.
5. Lastly, the program will try to simplify the equation via division. If the answer is a decimal, then it usually cannot be simplified; if it is an integer, then it has been simplified more. The user himself should check the “simplified” answer!
6. A menu named “Pardat” will then appear. Click “yes” to find the other information, or “no” to quit. (The user should refer to Pardat)
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Changing to imaginary (
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(If yes, Pardat Link)
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Graphing check
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The Vertex
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     The Point-symmetric

                      The Y-intercept
(There is no x-intercept because the parabola does go far enough! However, if it did exist, one could trace to the positive and negative REAL quadratic answer…)

Polynomial Expressions
Programs in this archive group Polynoms.8xg:


Name

Description of use

1. QDCMPLT2 (26)
See the Quadratic section; program is same as before
2. Quadrat (27)
See the Quadratic section; program is same as before
3. SynthDiv (30)
The most useful equation in this group, this program 




actually does synthetic division! It has other useful fact-




finding functions too. 
4. Turns (31)

Another super-simple program that give the user the possible 



amount of turns in a polynomial expression of degree n.
QDCMPLT2
See the Quadratic section; program is same as before

QUADRAT
See the Quadratic section; program is same as before

Synthdiv

This program does synthetic division. All that is needed for inputs are the divisor, the number of terms of the polynomial, and the values of the terms themselves. In addition, this program will also tell the user if the answer is a factor of the polynomial and if the corresponding point of P(x) is on its graph. Moreover, the calculator will try to convert the ending-list into sense.

The following pictures finds the real root/factor/P(x) for ((2x4+3x3+5x2+1)/(2))
Steps:
1. Launch Synthdiv.
2. First, enter the divisor, the number of terms, and the values of the terms as a list {a, b, c, d &c…}. Dummy values are needed (such as 0x2, where one would put 0).
3. Next, the program will then display its work for synthetic division.
4. Furthermore, the program will display the coordinates of the graph when x=the divisor. It will also tell the user if the answer is a factor.
5. Lastly, the program will try to convert the list back into a poly expression.
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Turns

The easiest program that tells the possible number of turns of any polynomial of degree n. The pictures display the number of turns for a degree 3 poly expression
Steps:
1. Launch Turns.
2. Input the degree of the polynomial.
3. The calculator will then give the possible number of terms!
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Rational and Radical expressions

Programs in this archive group RatRad.8xg:


Name

Description of use


1. FRac2XRT (32)
A simple program that converts non-standard fractional 




exponential expressions (N^(1/2)) into a radical expression. 

2. Quadrat (27)
See the Quadratic section; program is same as before.

3. XRT2FRac (33)
Opposite of Frac2xrt, a simple program that converts 




radical expressions (2√(23)) into non-standard fractional 




exponential expressions.
Frac2Xrt

This very simple program rearranges non-standard fractional exponential equations into standard radical expressions. The formula is as follows:

Radicand^(Exponent/Index)

=

Index*√(Radicand^Exponent)


All that is needed is the radicand, the exponent, and the index. Easy! NOTE: the final answer (especially the exponent in the new radical expression) is NOT simplified; the user must do that himself! The following pictures convert the expression 2^(3/2).

Steps:

1. Launch Frac2Xrt.
2. The calculator will first remind the user of the formula. Input the values for the radicand, the exponent, and the index.
3. The calculator will then echo back the equation the user inputted.
4. Lastly, the calculator will correctly convert the equation!
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Answer is reducible
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2√(2^3)










2√8

QUADRAT
See the Quadratic section; program is same as before

Xrt2Frac

This very simple program rearranges standard radical expressions into non-standard fractional exponential equations. The formula is as follows:

Index*√(Radicand^Exponent)

=

Radicand^(Exponent/Index)


All that is needed is the radicand, the exponent, and the index. Easy! NOTE: the final answer (especially the exponent in the new radical expression) is NOT simplified; the user himself must do that! The following pictures convert the expression 2√(2^3).

Steps:

1. Launch Xrt2Frac.
2. The calculator will first remind the user of the formula. Input the values for the radicand, the exponent, and the index.
3. The calculator will then echo back the equation inputted.
4. Lastly, the calculator will correctly convert the equation!



Conic Figures
Programs in this archive group Conic.8xg:


Name

Description of use

1. DistFrm (34)

A semi-complex formula that computes the distance 




between two real points via the distance formula

2. MDPnt (36)

Another simple program that finds the midpoint between 




two real points via the midpoint formula

3. Pyth (26)

See the Quadratic section; program is same as before
4. Quadrat (27)
See the Quadratic section; program is same as before
DistFrm


Probably another widely anticipated program, this program finds the distance between two real points via the distance formula. All that is needed is the “coordinates” of each point/object. The formula is as follows:

√[(x2-x1)2+(y2-y1)2]


Note: The final answer will NOT be simplified in radical notation. One must do that himself!

The following pictures find the shortest distance between the mall (which is 2 miles west from one’s house) and the house of his friend (1 mile west and 2 miles north from one’s house). If translated to coordinates, this problem is (-2, 0) and (-1, 2).
Steps:

1 Launch Distfrm.
2 The program will first remind the user what the distance formula is.

3 Next, the user must input the values of x2, y2, x1, and y1.
4 After that, the program will compute (x2-x1)2.
5 Then, the program will compute (y2-y1)2.
6 Lastly, the program add (x2-x1)2 and (y2-y1)2 and will then take the square root.
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MdPNT


A very simple program, this program finds the midpoint between two real points. The user needs to input x2, x1, y2, and y1. The formula is as follows:

(x1, y1), (x2, y2)





_____  ______






    2            2


The following pictures find the midpoint between points (2, 2) and (5, 3).

Steps:

1 Launch Distfrm.
2 The program will first remind the user what the midpoint formula is.

3 Next, the user must input the values of x1, y1, x2, and y2.
4 After that, the calculator will then calculate the final x value.
5 Then, it will calculate the final y value.
6 Lastly, the calculator will give the final answer!



Pyth



See the Quadratic section; program is same as before

QUADRAT



See the Quadratic section; program is same as before

Probability

Programs in the archive group Prob.8xg:


Name

Description of use


1. FndcntPR (37)
A simple program that finds the end number of 





combinations for tree diagrams using the fundamental 




counting principle.

2. ODDS (38)
Another simple program that finds the odds of any scenario.

3. Perm (39)
A simple program that does normal permutations.
FndCntpr

This simple program calculates the end number of combinations for tree diagrams using the fundamental counting principle, which is as follows.

n1*n2*n3…nk
Where subsets and k are the number of “activities.”


The following pictures solve this problem: “A shopper just recently received some coupons for a major fast food chain. The shopper has 3 coupons for burgers, and 4 coupons for drinks, but the chain will only accept only 1 burger coupon and 1 drink coupon. In how many ways can he use 1 coupon for burgers and 1 coupon for drinks?” 
Steps:

1. Launch Fndcntpr.
2. First, the program will remind the user what the fundamental counting principle is.
3. Next, input the number of “activities” (k).
4. After that, input the activity subsets (n1, n2, &c) as a list {a, b, c…}.
5. Lastly, the program will find the final amount of “combos!”
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ODDS

This simple program will find the odds of any simple scenario via the odds formula, which is as follows:

A/(A+B)
Let A= the number of ways the event could occur
Let B= the number of ways the event could fail

The following pictures find the odds of throwing a dart in area “A” on an equal spaced dartboard, which has 8 equal spaced areas.

Steps:
1. Launch Odds
2. First, the calculator will reminder the user of the odds formula. Input A and B.
3. Next, the calculator will compute the fake “odds.”

4. Then, the calculator will echo back the substituted equation.

5. Lastly, the calculator will give the odds!













      The odds is 11%
Perm

This simple program will calculate normal types of permutations. Remember: permutations are for rearrangements where order is important (thus, i.e. ABC is different from ACB)! The following is the normal permutation formula:
P (n, r)= [(n!)/(n-r)!]
Let n= # of items

Let r= # of items taken each time

The following pictures are used to determine how many rearrangements are available for the letters A, B, and C. 

Steps:
1. Launch Perm.
2. First, input n (the number of items) and r (the number of items taken each time) for P(n,r).
3. Second, the calculator will echo back
 the permutation formula P(n, r).
4. Next, the calculator will calculate the fractional part of the equation, substituted but not simplified.
5. After that, the calculator will simplify the denominator.
6. Next, the calculator will give the final answer!
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Stats

Programs in the archive group Stats.8xg:


Name

Description of use


1. Inrqrng (41)
A simple program that finds the inner quartile range from 




Q3 & Q1.

2. mmmr (41)
A widely anticipated program, this one finds the mean, 




median, mode, and range of a set of data!

3. stndrdev (43)
A simple program that finds and displays the standard 




deviation of a set of data!
InRQRNG


This simple program finds the inner quartile range with Q3 and Q1. This is used for finding the “range” for the box area between Q3 and Q1. It also has some uses for standard deviation graphing. Here is the formula:

IQR= Q3-Q1

THEN 1.5(IQR)

The following pictures finds the IQR for this set of data {1,1,2,2,3,4,5,6,6,7,8}, where Q3=6 and Q1=2.

Steps:
1. Launch inrqrng.
2. The calculator will first remind the user of the IQR formula.
3. Input the values for Q3 and Q1.
4. Lastly, the calculator will find Q3-Q1, and then multiply by 1.5, giving the answer.
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MMMR


This awesome program is similar to “1-var stats,” but it is more accurate and finds additional information that the calculator will not give the user! The program will find the mean, median, mode, and range of any set of data! All that is needed is the dimension of the stat list and the list of data. To do that, for the dimension, one can either count the dimension and type it, or type “dim(á[listname]”, and, for the list, one could just type á(name). 

Note: Finding the mode for some sets will not be correct if some numbers “tie” for the mode (i.e. the first example set below has modes of {1, 2, 6}). In addition, some sets (maybe ones with multiple modes?) will crash for finding the median whether one inputs the dimension as even or odd!

The following pictures find statistical data for the set {1,1,2,2,3,4,5,6,6,7,8}. For some odd reason, the program crashes for that set for finding the median, so the pictures for the median will be for {1, 1, 2, 3, 4, 5, 6, 7, 8, 9}.
Steps:
1. Launch MMMR.
2. First, input the dimension of the list, and the set of data.
3. Next, the computer will echo back the list for verification.
4. After that, a menu will appear for what data to find. Select a function to perform.
	Each function’s steps

	Mean:
	Median:
	Mode:
	Range:

	The calculator will easily find the sum, and divide that number by the dim number.

	First, the calculator will echo the dimension of the set. Input whether the number is odd (0) or even (1)
	The calculator will display its background work of counting and searching for reoccurring numbers
	The calculator will subtract the highest and lowest number, giving the user the range!

	The user now has the mean!
	If the number is even, the calculator will immediately give the user the median!
	Lastly, the calculator, after its work, will give the user the mode!
	

	
	Otherwise, the calculator will add the two “median” numbers and divide by two, giving the user the median!
	
	









(Shortcut method)
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Function Menu



     Mean:


Median:

     Mode:
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stndrdev

The last program in this pack and archive group, this simple program draws in the pfd graph-form and finds the standard deviation of a set of data. All that is needed to be entered is Ë and Çx. 


These values can be obtained by pressing ( (, then ( (, and then by entering the user’s set in the first column. Next, the user should press ( (Calc) and (, which will give the user statistical data for the list, such as Ë and Çx. Lastly, after launching the program, the user can enter Ë and Çx manually, or by pressing [Vars] ( and ( (for Ë) and [Vars] ( and ( (for Çx). See the pictures.
The following pictures find the standard deviation for the set 


        {1, 1, 2, 3, 4, 5, 6, 7, 8, 9}. 

Steps:
1. Launch Stndrdev.
2. Input Ë and Çx.
3. Press (!
Setup
Setting up the editor
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Finding Ë and Çx
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The program itself







      (Shortcut method)
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(Does work…)








Copyright (©) summer 2009, 


“Tamkis”





(This manual and its programs can be freely distributed [with credit] for educational purposes)












